1.1 Numerical Reasoning Test

Q1
If 9 large bottles of lemonade costs £9.90 in total, how much would 6 cost?

A)
£5.00

B)
£5.60

C)
£6.10

D)
£6.60

E)       £5.50

Answer D

Q2

If the deal with 8 large bottles of lime cordial is buy eight and get one free, what is the original per bottle price when the total is £8.80?
A) 88p

B) 99p

C) 90p

D) £1.11

E) £1.10

Answer E

Q3

You have decided to store your CDs in the spare room on shelves, you have 1056 CDs, each shelf can hold 72 CDs how many shelves will you need?

A) 12

B) 14

C) 9

D) 15

E) 16

Answer D
Q4

You’ve worked out that each of your CDs will take approximately 22 minutes (there is about 10% variance here) to convert all the songs to MP3, how many days will it approximately take to convert your whole collection of 1056 CDs?

A) 7

B) 10

C) 14

D) 21

E) 16

Answer E
Q5

Seeing as life it too short for this you have approximated that there are only 3 or 4 songs you listen to on each CD so if you managed to sell your 1056 CD collection for £2 a CD and the MP3 download cost 49 pence each would your new collection:

A) cover costs and be able to buy a few more tracks

B) not cover costs

C) be able to sell half the CDs and still cover costs

D) if the unit cost of the MP3 doubled would you cover costs?

E) Swapped 75% of the CD collection for 25% of the MP3s, still break even?

Answer A

6. The children had completed their spelling test at school – they were told that the pass mark was 65% what did this equate to in terms of correct Answer?

A) seven correct Answers out of ten

B) twelve correct Answers out of twenty

C) three correct Answers out of five

D) thirteen correct Answers out of twenty

E) twenty correct Answers out of thirty

Answer D

7. Identify the missing number, indicated by a question mark (?).

? x 9 = 108

A)
11

B)
12

C)
14

D)
13

E)
9

Answer: B

8 What is the missing number in the sequence?

	14
	21
	?
	35
	42


A)
4

B)
6

C)
20

D)
30

E)
28

Answer  E
9 What is the missing number in the sequence?

	2
	4
	8
	?
	32
	64


A) 10

B) 12

C) 16

D) 18

E) 24

Answer C 
10 What is the missing number in the sequence?

	167
	143
	?
	107
	95
	87


A)
133
B) 
132

C)
117

D)
123

E)
119

Answer D
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